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RATIO- It is comparison between similar kind(same units) quantity by dividing
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If A:B =3:5
If the difference between numbers is 112 then B=?
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If A:B =3:5
If the sum of squares is 2754 then smallest number = ?
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If A:B =3:5

If 9 is subtracted from each of them then ratio becomes 12:23 find A?
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If A:B =3:5
A are successful and B are unsuccessful examinees in an examination . the
ratio would have been 5:7. if 20 more students had been successful . the total
number of examinees are ?
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If A:B =3:5
Their product is 540 then the sum of numbers is :



Ratio and Proportion By-Gopal sir

If A:B =3:5
If 6 is subtracted from numerator then result is % times of initial fraction . what
Is the numerator :



Ratio and Proportion By-Gopal sir

If A:B =3:5
Ratio of B&C=2:3.then sum of largest and smallest is 8 and 121 then find A?
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If A:B =3:5
Ratio of B&C=2:3.then sum of largest and smallest is 8 and 121 then find A?
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If A:B =35
B:C =2:3, C:D =1:2 diff between (A+B) and (C-B)= 620 then find C=?
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Q1- Rs 11550 has to be divided between A,B and C such that A gets g of

what B gets and B gets g of what C gets . how much more C gets over A
o

i1550%7q1?rﬁA, B aﬁvc%iﬂaﬁmﬁmmmﬁ,ﬁﬁ%/xﬁmﬂg

ﬁmm%aﬁvsaﬁcg fredar 21 A R ¢ foraar st firear @

%7200
%1800
%1170
%2450
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Q2-if 6A=4B=9C; what is A:B:C?

+6:4:9
+9:4:6
+4:9:6
+9:3:1
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Q3-if g = g = g,then what is the value of of (C + 4)%:(4 + B)?:(B + C)?

+9:4:25
+25:4:9
+64:25:49
+49:25:64
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Q4- if the square of the two numbers is equal to 4 times of their product
, then the ratio of these number is

gfe &) J@mal &1 93t 39% Product & 4 AT & SRR &, A1 57 G131 PT
3rguTd 3

o 2:1
o 1:3
o 1:1

A/
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=
N



Ratio and Proportion By-Gopal sir

Q5- In a coloured picture of blue and yellow colour , blue and yellow
colour is used in the ratio of 4:3 respectively. If in upper half , blue and
yellow is 2:3, then in the lower half blue and yellow is

IR GEUE R RDE ek ] ﬁﬁaﬁ?ﬁﬁwmmﬂ :4:3P
ﬁmﬁmméluﬁmaﬂé}ﬁ =fe SfiR e 2: 3%,a‘r frae amd
H e ok far @

o 1:1

NS 21

. 26:9

& 9:26

’0

0
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Q6- if 2r = h+y/r2 + h? then ratio of r:h (r#0) is ?
* 1:1

By-Gopal sir
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Q7- If the three numbers in the ratio 3:2:5 be such that the sum of the
squares is equal to 1862 then which number is the middle one?

u%s: 2: 5% JUTd I 9 B¢ T &, 1 a9 T T 1862 & SRIER o, <
CaE i keres ket k= i

> 16

14

13

15

4

)

L)

%3

*

A/
’0

L)

%3

*
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Q8- The compound ratio of the inverse ratios of the ratios x:yz, y:zx ,
Z:Xy is ?

o 1:xyz
» Xyz:1
» 1.1

s Xlyz

¢ o

L)

AR/

L)

AR/

L)

L)
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Q9- In aregiment the ratio between the number of officers to soldiers
was 3:31 before battle, In a battle 6 officers and 22 soldiers were
martayerd and the ratio and the ratio becomes 1:13, the number of
officers in the regiment before battle was ?

U Yfomde A Afa! A rfsial & T & o &1 3:31 ST A
U UT, U ST ﬁsarfﬁm'\ﬁaﬁuz%&mﬁgfqmﬁz 3R
YT 1:13 Bl 7T, IST8 | Ugd o | Edk:renk

31

38

21

J/
0’0

J/
0’0

J/
0’0

o3
N
(@]



Ratio and Proportion By-Gopal sir

Q10- Among 132 examinees of a certain school, the ratio of successful to
unsuccessful students is 9:2. had 4 more students passed, then the ratio of
successful to unsuccessful students would have been ?

uw IS Toa & 132 e 8, 3wd ol & 95 6 31 9:2%14
3R B U 3, fY ST d B & T Wwa g1 &1 w

% 14:3

% 14:5

s 28:3

s 28:5
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Q12- (a+b):vab=4:1, where a>b>0 ,then a:bis ?
< (2+V3): (2-V3)
< (2-V3) : (2+V3)
< (3+V2): (3-V2)
< (3+V2): (3+V2)
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Q15- if A and B are rational numbers and A+B+/3= ——=, then A:B is equal to ?

_\/_’

X/

DX
1

N

=

DR

| <| N
Wl
e

/

DX
N
=



Q16- Three numbers are in the ratio =:2
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2.3

537 The difference between the greatest

and the smallest number is 36.The numbers are ?

72,84,108
60,72,96
72,84,96
72,96,108

.2 & 3UTd | BIdl 8 | Ta9 931 3R Jad DI G- & a1 &7 3fa?
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Q17- The ratio between two numbers is 3:4.if each number is increased by 6, the
ratio becomes 4:5. the difference between the numbers is ?

Q) T@IT3} & 9 BT SUTd 3: 4 B 1 UAS UBIT 6 W 9¢ STl 8, SUTd 4: 5 &) STaT
81 Tmsii & ot BT 3 §

4

L)
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Q18-The average of 11 numbers is 36,whereas average of 9 of them is 34.if the
remaining two numbers are in the ratio of 2:3, find the value of the smaller
number(between remaining two numbers)? .

11 GBS} BT 3 36 T, SIGIPb 370 J 9 BT 3Id 34 ¢ AT G ASAL 2: 3%
U # 8, DIt GBI (VY & &A1 & FH) BT A [T PIoTE?

>

L)

. 45
48
54

L)

J/ J/ X/
0’0 0’0 0.0

w
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Q19-The ratio of number of boys and girls in a school of 432 pupils is 5:4. when
some boys and girls are admitted, the numbers of boys increase by 12 and the
ratlo of boys and girls changes to 7:6. the number of new girls admitted is ?
432 wﬁ ae%eﬁva@%q’rﬁmmeﬁms 43 TS

&1 Ul fpaT ST &, a’rasﬁﬁmuazﬁrﬁﬂ%eﬁ?m
aﬁ?ﬁ@%&rmwﬂa7 6 B a1 21 U &1 TS S Tl Bt T= @
12
14
24
20

/ / / /
0’0 0’0 0’0 0’0
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Q20- How many job applicants had applied if the ratio of selected to unselected
was 19:17.if 1200 less had applied and 800 less selected , then the ratio of
selected to unselected would have been 1:1?

foram et srde®! A 3MdeH foar T afe Taf~d &1 3T SR™Af—d 19: 17.if 1200
S AR fHaT 141 AT 3R 800 FH A A, df Taf—d U BT UTd 1: 1 I§T 1M

% 6000
% 7200
% 8400
% 4800
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Q21- If 50 less had applied and 25 less selected, then the ratio of selected and
unselected would have been 9:4, so how many candidate had applied if the ratio
of selected to unselected was 2:1?

gfe 50 HH A 3ATde fHar 4T 3R 25 FH Taf+d A, df Taf—d iR rEafd 1 ST
9:4%@@@@%@%@@2:1mﬁmﬁ@ﬂwﬁ
3Tde T

125
250
375
500

J/ / / /
0’0 0‘0 0‘0 0‘0
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Q1- The salaries of A,B and C are in the ratio 1:3:4. If the salaries are increased
by 5%,10% and 15% respectively, then the increased salaries will be in the ratio

s 20:16:95
s 21:66:95
o 21:66:92
s 19:66:92



Ratio and Proportion

By-Gopal sir

Q2- Annual income of amit and veeri are in the ratio 3:2,while the ratio of their
expenditureis 5:3. if at the end of the year each saves 1000 rs, the annual
iIncome of amit is

% 9000
% 8000
% 7000
% 6000
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Q3- A and B have their monthly incomes in the ratio 8:5, while their monthly
expenditure are in the ratio 5:3. if they have saved 12000 and 10000 monthly
respectively, then the difference in their monthly incomes is

% 52000

% 42000
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Q4- A’s income is 140 more than B’s income and C’s income is 80 rs more than
D’s . If the ratio of A’s and C’s incomes is 2:3 and the ratio of B’s and D’s
incomes is 2:1, Then the incomes of A,B,C and D are respectively
% 260,120,320 and 240

300,160,600 and 520
400,260,600 and 520
320,180,480 and 360

%

X4

L)

CR)

L)

*%

X4

L)

D)
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Q5- Theincome of A,B and C are in the ratio of 3:7:4 and their expenses in the

ratio 4:3:5. if A saves 300 rs out of an income of 2400, The savings of B and C
are:

s 4025 and 575

s 2750 and 1525
s 1575 and 2625
s 3752 and 1525



Ratio and Proportion By-Gopal sir

Q1- A policeman starts to chase a thief. When the thief goes 10 steps the
policeman moves 8 steps . 5 steps of the policeman is equal to 7 steps of the
thief . The ratio of the speeds of the policeman and the thief is :

% 25:28

% 25:26

% 28:25

» 56:25
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Q1- Two candles of the same height are lighted at the same time . The first is
consumed in 8 hours and the second in 6 hours. Assuming that each candle
burns at a constant rate , in how many hours after being lighted , The ratio
between in first and second candles becomes 2:1 .

s 2 hr 24 min

4 hr 48 min

* 1 hr 12 min
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Q2- P and Q are two candles of the length of 4 cm and 5 cm respectively. P is
consumed in 16 hours and Q is consumed in 15 hours. Assuming that each
candle burns at a constant rate . how many hours after being litted their length
would remain equal to each other?

o 8hr

s 10 hr

s 12 hr

s 14 hr
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Q1- 2010 are to be divided among A,B and Cin such away that If A gets 5rs
then B must get 12 rs and if B gets 4 rs then C must get 5.50rs . The share of C
will exceed that of B by

% 620

s 430

% 360

s 270
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Q2- A sum of 76 rs is divided among A,B and Cin such away that A gets rs 7
more than that what B gets and B gets 6 rs more than what C gets. The ratio of
their share is
s 19:24:33

32:25:19
32:24:20
19:25:33

*%

/ J/ /
0’0 0’0 0’0
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Q3- A sum of 730 rs was divided among A,B and Cin such away that if A gets 3

rs then B gets 4 rs and if B gets 3.50 then C gets 3 rs. The share of B exceeds
that of C by

% 30
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Q1-The price of diamond is directly proportional to square of its weight. A man
broke the diamond accidently in three pieces in the ratio of 3:5:7 and thus lost
42600. what was the original price of the diamond?

% 11786

% 67500

% 60000

% 75000
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Q2- By mistake ,instead of dividing 117 rs among A,B and C in the ratio % %
was divided in the ratio 2:3:4. who gains the most any by how much?
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Q3- If asum of money is to be divided among A,B and C such that A’s share is
equal to twice B’s share and B’s share is 4 times C’s share, then their shares are
in the ratio:

o 1.2:4

1:4:1

8:4:1

2:4:1

D)

/ J/ /
0’0 0’0 0’0
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Q1l- There are 480 coins in half rupees , quarter rupees and 10 paise coins and
their value are proportional 5:3:1. the number of coins in each case are

% 100,200,180

% 50,30,400

% 150,180,150

% 300,90,90
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Q2- A bag contains three types of coins 1rs, 50 paise, 25 paise and total 175
coins. If the total value of the coins if each kind be the same, the total amount in
the bag is

% 75

175

300

126

D)

/ J/ /
0’0 0’0 0’0
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Q3- A bag contains 90rs in coins of denominations of 50 paise, 25 paise and
10 paise. If coins of 50 paise , 25 paise and 10 paise are in the ratio 2:3:5, then
the number of 25 paise coins are in the bag is :

% 80

» 120

» 100

% 135
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Q4- 180 contained in a box consists of one rupees, 50 paise and 25
paise coins in the ratio 2:3:4. what is the number of 50 paise coins

% 60

» 120

» 150

» 180

4

)

(R )

)

CR)

)

L)



